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EXAMPLE 3

& cylindrical can of radius 10 millmeters is used to measure rainfall in
Stormville. During the first 5 days of a 60-day period, 3 millmeters of
rainfall had been collected. The height of water in the can is modeled
by the function, 5, where 5() is measured in millmeters and t is
measured in days for 5 < ¢ < 60. The rate at which the heightof the
water i rising is given by the function 5 (1) = 2sin(0.03t) + 1.5

. Find thevalue of [5 5'(t) de. Using correct units, explain the
meaning of this valbein the contextof this problem.

b. At the endof the 60-day period, what is the volume of water that
'had accumulated in the can? Show your wozk.
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EXEMPLE 4

‘The rate at which people enteran audiforium for a concext is
‘modeled by the fnction R givenby R(z) = 1380¢° — 675¢° for0 <
£ < 2hours; R(z) is measured in people per hour. VIP fickets were
soldto 100 people who are already in the auditorium when the.
doors openat ¢ = 0 for general admission ficket holders (o enter.
‘The doors close and the concert beginsat ¢ = 2.

Ifall of the VIP ticket holders stayed for the start of the concert, how
‘many people are in the auditorium when the concert beging?
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